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— Yawnh 1Y 1KY APISW 208 I
He is obligated to swear but he cannot swear

OVERVIEW

In the case of X"77 X201, the claim of *5vn >77 by the AVIN is not a credible claim,
the only way it can be substantiated is via the 2 of *svn X?. However if he would
claim *5v11 X% he would be required to swear and contradict the X"Y who claims aur.
Therefore since his only credibility depends on swearing against the 7v (that &5
*5vr7), and he cannot do that (because he claims v >7°7), therefore he must return
the X201.! Our mooIn discusses why he can’t swear that *5vn >7°7 and be believed
with a 27 of *aun &Y.

— 207 99NV
He cannot swear to contradict the 7v (who is testifying that he grabbed away the
X201) since he admits that he grabbed the xo01.

n1voIN asks:
—90N N9 99N ¥ INT 1292 290N Y797 9INT INNA NYIAVA NINNTY 99NN ON)

And if you will say; and let us believe him, in that which he claims that ‘I
grabbed mine’, with an oath (of *5vn *7°7), since he has a 1%, for he could have

said, ‘I did not grab’; in which case he would take the oath of »svn X% and be believed, let
him instead take an oath of *»vr *7>7 and be believed.? What difference should there be which
oath he takes?

mooIN anticipates a possible solution to the question:
— INDIINT NPIAY 290 N0 290N XY 9N ON N7 N1 2PUN XD RNT N1 )

And if you will say; that this is not considered a 1», for if he would claim X

ssur, he would be obligated to take a Xn>"7I18T oath; however now when he claims 77
ou17 there is no XNIIRTA 7312w 217, therefore it is not a Wn —

!'See the 0"awA here.
2 mpoIn may be negating a different interpretation why he cannot swear; namely that once he says *oun 77, he is
considered a 7213 and a 1713 is Av1AWH o9, If that would be the interpretation there would be no room for nwon
ensuing question. NMooIN assumes that even though he says *5vi *7°7, he is not considered a 1213 since he claims 77
DY
3 See ‘Thinking it over’ # 1.
4 A wn is valid only if he could just as easily make the 13n claim as his actual claim. Here however it is easier for
him to make the actual claim of *svn >7°7 where there is no Xn»MR7 712w (only the more lenient 31277 7¥12W) as
opposed to making the 2 claim of *d>vn X% where there would be the more serious RN»7IRT AV12W.
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mooIn rejects this solution:
— 0V 13N DENR TPINN (0w x,y 97 mp%) NHAN NN 999N 9IN NIT NN ND

This is not so (there is no difference regarding a »n whether it is a Xn»K7 7120
or a 11277 Ayaw), for X701 17 stated in N2 AR 2w PO, regarding one who
deposited an item by his friend with a 9ww (which states the terms of the deposit) -

— YW NI DT IDINI 9N SPA IRT 1N NV Y 1PNIINN 99T )N
The custodian is believed to say, ‘I returned it to you’ with an oath (even if the
7PN is in possession of the 7ww), since the custodian has a 1»°», for he could have
said, they were lost in an unpreventable manner, in which case (if he claimed

101X1) he would have been believed with a 712w of 10181, therefore he is also believed
with a 7y1aw of 7% YnnInn -

— NIPIINT NPIAY NIIN YDINIAT 23 by 9N
Even though that by 01R1 there is a RNTIRT 12w (the o> wn nnaw) and when he
claims *n7177 there is no XN™MIXTA AY12W 211, nevertheless it is a valid 1. This proves that a 137
is valid even if the claim does not require a Xn»7X7 712w and the 131 requires a RNMMINT A2V
The question remains why the 717 is not believed with a 7y12w that *svn >7°7.

mooin offers a refutation of the proof from wW2 17°21 YR TpoR:
— 192979 NN DNNT IDINIT APAY W97 D 13929 VIV 11791)

However, according to the explanation of the n'% who explained that the
712w of 101N1 there is only a 33397% Y12, because -

— 929V NN SHEPNA ANTIN NIINT NI NIN YDINIA 192N NHIINT AW 2900 NDT
One is not 2°"172 in a XN™TIRT 712w even by a WiNI claim unless there is a

partial admission, according to this view it is properly understood, why by ponn
there is a 1°»n since both Myaw are 1312772 (for there was no n¥pna IX7T), however in our case
where the 131 requires a Xn°71X7 712w and the claim does not require a XN IR 712w, therefore
in our case there is no 1. According to the other opinions however that every 10181 requires a
RN™MRT 712w (even without a n¥pna ARTT) the question still remains why is he not believed
with a 7¥12w since he has a 2.

MooIN anticipates a possible alternate solution:
— 599N HNX YININT 290N NI 991D I8N NN RIT 1N 2OYUN XY INNT 933 919917 NI

And one cannot either say that this is not considered a % since he is not that

brazen to claim >pvn X% to contradict the 7v -
— N9DYN Hya) T¥n MTYY 1MIYD9Y XYY NYY DIVN IN

3 This is the view of ®»n 72 "7 (cited in X,7 1"2) that the 0™ AvI1AW is given only when there is a N¥p»a 77°93 and
a nXpna aRTIma.
¢ In the case of the 7°pon, the 11 of 101X1 is not contradicting anyone; therefore he is comfortable to claim it.
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Or it is not a 2»» because he is afraid to claim *svn X9 so that the X"y and the
owner of the X201 should not invalidate him from being a “w> 7p.7

mooin will prove that the M7y of the X037 9¥2 (who is a litigant) will be accepted to the extent of
making the nuiT a MTY? Hoo:

— [N$19292 19NN 7215] 999999 12911 927 HYAT (3,05 97 paTmv) 9993 DT PID2 MMINTD
As X217 ruled in 9712 777 P95 that the litigant (in this case the mY) is believed to

say ‘he lent me money with interest’, and can be combined with an X"V to make the
lender m7v% 705, Here too the X"y and the X201 Yv2 will make the grabber mTy% 9109, Either of
these two reasons explains why there is no 13°» here because he does not want to use the 13'n
claim. This would seemingly answer our question.

mooIn rejects this solution:
— 19122 N9 HY 1997 ¥9109 NN NINAY 13NN TYT IND INT YIYN XNT

For it seems that if not for the fact that the Tv obligates him to swear, the nuIn
would be 715 and retain the X501, and perforce we must say that this is on
account of the % of »oun 85 —

mooIN goes on to prove that the reason he would be believed to claim *5vn >77 (if the X"¥ is not
2nn a 7y12w) is only because the AuIN has a 1w (of *oun RY):

— 290N Y757 993927 1153925 T3 IND 1910 IND INT
For if not for the w» (of *sun X?) the A7 would not be believed to claim 757

DU, Moo proves this -
— 290N 77T 91990 PANI 1IN DIYN YTND Y9N NIIN 25 NNY

For if there are two witnesses who saw the grabbing, the qu 7 must pay, and he

is not believed to claim 2w 9737, because *5vn *7°7 is no claim at all (it is the equivalent of
saying, ‘I stole it’); the only way that *vr >1>7 is believed is if he has a wn of *svn X5. Therefore
by two 0>7v where there is no 1n of *dvn X7, he is not believed. However if there is only one 7v
he would be believed [if we were to assume that an X"V is not 21 a 7¥1aw]. The only reason he
is believed to claim o *7°7 against this X"Y (who is not 2»m» a 7y12w) is because of the wn of X7
*sun. This proves that the A has no concern 7vi1 X w°ndnY?, or that this may make him a 9109
m7v° (for we use this 2n in the hypothetical case where the X"V is not 2»nn a 7v12w). The

71If he would claim >ovn X? the testimonies of the 7v and the X501 %¥a who claim that he was qvn will be combined
to contradict him and make him a m7v% 9109 since he is a 1213. See ‘Thinking it over’ # 2.

8 Xax " ruled that since the AU is a YW 27 (of *BvA X?) and ¥aw>> 71> 11X (for he says *oun) therefore he has to
pay, but if he would not be a ?"xwn he would not have to pay. The question is why; it cannot be that >ovr >77 is a
good mwv (as N1ON will soon show), so it must be only because he has a W of *svn X7, which contradicts the X"y
and places him in danger of becoming m7¥% 7109 and nevertheless it is sufficient to have us believe him. This proves
that *avr X2 is a valid wn.
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question remains since it is a good 1°» and there is no difference (regarding a 2°»n) whether it is a
XN™MIRT 712V or a 112717 7¥1Aw, so the A should be believed with a 712w of *0un *1°7 with a 1°n
of *our XY.

nBoIN answers:
— NPV 1NN TN NN RY ON INTIT PNYS 13929 9IIN)

And the >''9 says; that certainly (in the hypothetical case) where the 7 would

not obligate him to swear -
— AWAY RDA TYN NNX YININY 1239 PIYND D157 290N ND 919N ¥ INT 19193 )N 19N

He would be believed with a 1% that he could have said “2un X%, because he
can be brazen (and claim *5vn7 X?) to contradict a weakened T¥ who cannot

make him swear (»oun &%) -
— NYAYA 125110 R AWAY 139NNT RNYH YaN

But now that the X"V obligates him to swear, he is not believed with a 7¥2w of
D07 7T -

— 10NN TYNY 9273 YaYID) 1239 HYNY DI NINY NN 1 DY
Through the % of *svr1 X7, since he [cannot] be brazen and swear *5v17 X% on

something which the strengthened 7¥ contradicts him.!

In summation: We do say a 2»n from a 11277 7312w to a Xn™MIXT 712w (except according to the
n"). The wn of *svn X7 is an effective 1n to contradict even an X"v (if it does not require a
7v2w). However it is not an effective wn if it will require him to contradict the X"¥ and swear to
that effect.'?

MooIN asks:
— DRINYI 297 RNYL NN 1N XY IN NYP DaN

However, there is a difficulty; if, as mdoIn states, there is no A2 to be v ran
with a 7312w a contradictory 7V, what is the reason of »Xw 27 -

% The n"271 M7 amends this to read 7 89w 30
19 He can be brazen and contradict the 7v when it does not require a 712w, but he cannot be brazen enough to
contradict the 7v and swear that the 7V is testifying falsely (even though he is sufficiently brazen to swear [falsely]
°5vn >7°7 [where no one contradicts him]).
! There are three levels; it is easiest to claim *»vn >7>7 (for he is not contradicting anyone), it may be more difficult
to claim *9un X9, even without a 7312w (for he is contradicting an X"Y), it is extremely difficult to claim *svn 8% and
swear to that effect against an X"y (who claims nawvn). Therefore there is a 1n of *svn & if there would be no 210
7y12w, however there is no 1% of *dun X? when there is a 712w 20, for we assume he is not 1°¥n to swear 0o X?
and be w°ron the 7v. He cannot swear to such a lie (where an 7¥ contradicts him).
12 In the case of 101817 1312 >n7in he is believed because there it is the opposite of here; the actual claim of >n7mi is
contradicting the 7°pan, but the 1°» claim of 101X1 is not contradicting anyone, therefore the 1°n is effective since it is
easier for him to claim the 131 claim than the actual claim. See footnote # 17.

4

TosfosInEnglish.com



"7 "7 ' R,72 2" 702

— N2 2909 NAN 229N (0w &0 917 mmaw) 1PYAYIN DD P93 1D 9T
Who argue with "9 in Pyawi > P95 and they exempt the a7 from returning

the X991 -
— OYYN YaWsrY 199 199RY TINN 1Y MY

For they do not agree to the concept of abwn yaws 9159 1R JIn% -
— 139595 $PYW9975 1391 XD 290N 27157 901D 1IN 1INT KUY NN 909 INNAN NNV

But now that we assume there is no °», why do they exempt him from returning
the X201 (even if they do not maintain n"%°RXwn), for it is obvious that he is not

believed to say purn 577 without a w% as I explained previously (concerning the
claim of *avn >7°7 if there are two 0°7¥ that qurm).

moon offers an alternate explanation:
— 1993950 91 INTIT VINMI 12 PNYY 13939 YW 11 NI ToY

Therefore (because of the aforementioned difficulty) mooin prefers what the

2''29 explained that *5vr7 XY is certainly a valid 1392 (even though he contradicts the 7v

with a ay12w) -
— 90N NY 99X *¥a INT 119192 AW JINIT ININYI 29 2909 97D

And therefore (since *5vn X7 is a valid 1) DR 29 exempt the quIn, for he is
believed with a awaw that *5vr >7°7 with a 1a» that he could have claimed and

SWOrn Spun XY -
— AN M DY IINT AN YY 9N 920 NaN 29

And X"9 maintains that even though the qui7 has a 1 (of *5vn &%) nevertheless

he is 2% to return the X201 -
— P9 NN )2 1549910 12 AV 1IINND TN NIINT 11227

For since there is an R"'Y who obligates him to swear 7791057 3%; this is the rule -
— 17910955 1693553 99 95991 1PN) BYYS IN 19N NN YININY Yawsrv

13 mooin asks that regardless whether we maintain 7"72°Xw» or not; since we have established that there is no 13 to
be w non an nyawa XK"Y, then he must return the Xoo1, for *svn >7°7 is no claim (without a W of *svn R9). The
question can seemingly be on X" as well, why was it necessary for him to resort to »"2°Xwn he should have ruled
that he must return the X201 since he has no 1. See ‘Thinking it over’ # 3.
14 The 0"2°1 rejects the notion of the > that *dvn X% is not a 13°n since he cannot be 1v» to be wnon the Ty with a
7¥12w, rather just as he can swear *d0n *7°7 he is capable of swearing T¥77 DX W27 00N R>.
15 mpoin writes that there is an 7707 12 AW 127077 X"V even though he is claiming *5vm *7>7, so (seemingly) there
is no YW 210 since he is not contradicting the 7¥; nevertheless since (as mentioned earlier) the claim of "ovn 77
on its own merit is not a valid claim, it can only be effective because of the 13n of >svn &7, therefore we consider as
if his claim is (based on) *svn &2 which contradicts the 79, therefore he is 7y12w 277,
16 This answer may be better understood if we assume that a. an X"V is 77an 2»nn like 079 '3 except that there is an
option not to pay, (only) if you swear to be w°non the 7v, and b. a 13n is not (necessarily) a proof that he is saying the
truth (a 717°2), but rather that by a 2» we give him the rights of the 1°» claim (it is a 71w n1d7). He has a 7ivwi not
of claiming *ovr X2, but even if he would claim >5vn &7 he would be obligated to pay unless he swears 7971 nX w72,
5
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Either the 1 swears to contradict the 7¥ or he pays, and a 12 is not effective
to exempt him from paying, on account of the 12w 21 generated by the X"v.

In summation: the view of the 0"2" is that since there is a XN IR AY12W 2117 a W» is not
effective to counter this 211 because of the concept 2%wn yaw 7 9127 1Xkw 7:nn. However the 1
is valid according to X1 21 who disagree with n'"?xwn.

nvoIN asks:
— (ow) 1P¥AWIN DI P92 NY 7291 951 NAN 2299 9NN ON)

And if you will say; and how does X''1 derive in 1P»aw37 95 P95 the rule of n"»xwn-
— YN 122 XD 0NY )22 1NN /N NYAY Earnsmn

Since it is written, ‘The oath of '57 shall be between the two of them’; the X3
infers from the words 01w 12 that the oath must be between the two principals,

the 7°pon and the 2w, but not between their heirs, in that case there is no oath. The
X713 there continues to discuss what situation does the 7710 refer to that the heirs are exempt

from taking an oath. The X713 concludes that the 7199 is in a case -
— NPT RD PWNNI NIYTd PYWNN 9N TPaN T2 NAND NN 1D 99N

Where one son said to another son, ‘your father owed my father a hundred 17
(mam) and the son of the M7 replied fifty I know of and am willing to repay, but I

am not aware of the other fifty -
— 202551950 NN INNI 1PANA NI YNV DY 909D NP TPI0NINTN 0NN P11

which he is not doing, therefore the 2 is ineffective. [Perhaps 211 21 maintain that the 131 is effective since it is
a M2 (as well) and R"Y n¥aw is merely a way to verify the truth of the ¥yawi (see 11 MR °"72).]
17 mooin does not explain the difference between this case of X"y where a W is ineffective, and the case of >N
101817 2 where the 1n is effective, even though there too there is a Rn»RT Ay1aw. See w"X17 MooIN who writes
that by 01817 1»2 °nma when he claims °namn there is as of yet no 7v1aw 211 (for he is not claiming I0IX1);
however here there is an X"Y who is 21 him a 7312w (see footnote # 14). [Another difference may be that there the
7y12w of 101X1 is not generated by a >32 NI (no one is saying that it was not 101X1), therefore it is easier to claim and
the wn is effective, however here where the 71wv of "dun X% contradicts the X"v and the 12 nwv of the initial Sva
X201, the 77N requires a 71w to repudiate the X"v and a n is ineffective. Alternately the claim of *n7min on its
own is a valid claim (except that it cannot be believed on its own merit since the 7751 has a contradicting W),
therefore the 13°» of 101X1 is effective; however regarding the claim of *5vr *7°7 not only is it not a valid claim but he
is (partially) admitting that he did an act of 773; to substantiate such a claim (against an R"Y) the wn of *dun XY is
ineffective (or perhaps the actual 7312w by 10183, which is 72 *nyws X5, is not in contradiction to the claim of >na1nn,
as opposed to the 7¥12w of *ovn &2,which contradicts the claim of > >7°7). ¥"¥1.]
185 15 (@wown) nmw. The awo is discussing the 13w 1w who has to swear (if he claims) 032
19 This is a case of a n¥prna A7m where the M2 would have to swear (if he said emphatically I do not owe the other
fifty). However here by the 0w there is no 712w 21’1 on the son of the m>.
20 If the father would also be 715 when he claims X7 X? Pwnm XwT Pwan, why the need for a 7105 to tell us that
the 1w need not swear and they are 7o, they are no different from their father. Therefore we must conclude as
follows if the father would say Riw7> R2 Pwnm X7 Pwnn he would be 27mn a Avaw for he is a N¥pna 777 on the
X7 Pwnn and since he cannot swear on the X1w7> 82 Pwnn he has to pay because n"2°xwn. However when the pwav
6
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Where the X773 there infers that since it is necessary for the 105 to exempt the
2w (meaning that the M1 12 need not pay), this teaches us that the father

would be liable to pay the other fifty in a similar situation; the X concludes -
— O5UN YYD 5157 1IN NINAY 21NN NNIDN

It is evident that one who is 7¥1aw 25 (the n¥pna 77M) and cannot swear (to

deny the other fifty, since he is unsure), he has to pay. This concludes the X3 which
derives (from "\ 71 naw, the rule) that »">xwn.

Mmoo continues with his question:
— 2193513 R9JT ©HWN INT DNN NIVIX 139 9927 229

But how can we infer from the case there regarding 121 X7 1Pwnn to our case of

Xo%1; there by X1y7 XY Pwn, the "2 certainly has to pay, for he has no 3 to

exempt himself -
— DYYNT 1P NI 1)) NIINT XN YaN

However, here where there is a 2% for the qvn (he could claim *5vr1 X7), how do
we know that he has to pay back the x01?!

NID0IN answers:
— 22999175 N1IYYA N30 NIN NIPN N2N0P0 $HN KD NN 297 PNYY 135299 NINDI)

And it is the view of the 5" that the reason why R'"9 maintains n"?°Xwn is not
because of the o5 (W17 °1w 12 XY 0°1w 1°2) but rather he bases it merely on

logic as [was] explained. Therefore the logic applies in all cases, that wherever there is a
XN»R77 712w 210 (by an X'"Y) there are only two option; either swear or pay. 13°» does not enter
into the picture.

mMooIN anticipates a difficulty:
— NY39H0N NAN 2297 NN 220NN MNPT NI

And that which the X773 states there, it is reasonable to assume the view of X''.
—1PU9N 122 XD 0NIY 122 NOIN /N NPV ININ 229 NN

Since 2K 29 taught the Xn>¥m2 regarding the 2105 of amw 92 7570 ' py1aw from
which we infer 3P@197 192 XY (that which was cited above). It would seem that since the

say RWT KXY Pwnm X7 pwan the oo of 22w P2 R 07°Iw 12 teaches us that even though the w1 was a 771
nxpna, nevertheless there is no 7¥12W 217 on him, therefore the rule of 710 cannot apply. [The difference is that the
father should know whether he owes the other fifty, but the a°w71 cannot be blamed for not knowing.]
2l He would be 2111 a 7312w if he denied the other fifty; that is a classic case of n¥pna 771, He has no 1 of =913
901 because of the rule that 7"v2 °192 119 1°Yn 07X 1K (mentioned in &,3 n"2).
22 Others amend this to read either \Ww=573 or 2"2777 w572, See the text previously in this Mmoo by footnote # 16.
23 The x7m there cites the incident and ruling of 82X 17 8501 and concludes X12n07 X"97 7°M3.
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XTma cites the awn7 of WA P2 XYY to support XaR ', that the reasoning of XaX " is from this
109 and not from XnHy2 X120 as NDOIN maintains —

mooIn replies:
— 253NN 29N KDY RN DIV 10219 XIP

The P02 of 27°1w 7°2 comes to exempt the heirs but not to obligate the father.

mooIN anticipates an additional difficulty:
— 1152 5W97 NI 90D /N DAY IND INNIYI 29 DN IINPT NN

And that which the 8723 asks there; how do »Xw»w 29 (who do not maintain

n"2Rwn) interpret this p1op of '71 NYaw, etc. since they do not interpret it to teach
n"xwn. However according to mooin explanation that the P05 merely teaches us that the Pwar
are Mvd (but it does not teach us the rule of »"?Xwn); what is the question on XY 27?!

mooIn replies:
— PPY 10915 NIP THIVEN INAN 1909 NIN) NN ANAT 1129 9IND 291

This is what the X773 asks; since 7% 21 will exempt the father from paying in
such a case of X1y7 X7 Pwnm X7 Pwan, why is a P05 necessary to exempt the
WY from paying, if even the father is ws!

In Summation: (according to the 0"2°7) the X723 in My2w derives from o7°1w "2 that 2w are
Mo from a 7w (and that nwA7 is understood if we assume n"?°Rwn); however the rule of
n"oRwn is derived from a Xn?¥2 X120, but not (necessarily) from that 105,

Mmoo responds to an anticipated difficulty (if we assume that a 13°» is ineffective against an X"¥):
— YDAN Y297 11592 92%AN 22) (0w §,n2 97 MN) ANMINA 1IPININT XNIT 991D 7298

And it is necessary to say regarding that which the X723 states in an27 pod
concerning 22X the son of 72K ' -

— 255915 YNTIN 22 MY 192 YPYN NNT
Where he owed money to the people of X7 52, ete. 172x "1 ruled that if there were no

witnesses that X»nr1 paid the X1 °2, they are believed -
— 26989050 913917 995 BYIYN DT 19N KD 991D Y9557 TInN

24 The Xn™12 merely states that by R1y7> X? Pwnam Ry Pwan the Pwa are Mws. The Xn»72 does not derive the rule
of n"?Rwn from this P1oo. Similarly X" maintains »"?°Xwn is derived from a X720. We may have thought that this
rule applies to the w1 as well (if the n"2% ny12w would apply to them by Riv7> 8> Pwnn), the P105 teaches us that
the 712w does not apply to them. The X3 there merely says that this 79 for the 071 is understandable if we
maintain n"2°Xwn, but not necessarily that we derive it from this p109.
25 The story there is that *»°ax sent the money to the X1 *2 with X»n. After Xan paid them, he asked them that they
should return the 21 0w to him, they answered him that the monies you paid was for a different loan that *»°ax
owed us, and he still owes us other monies for the 217 “WWw.
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For since they can say nothing even happened (you never paid us) they can

claim, the money you paid was for another loan. This concludes the citation from that

X773, NBOIN continues, that it is necessary to assume that the story there -
— 1Y NOHYN NN RIT 7NN NYAVY 129 PPNT 9N 29N

Occurred after the 3321 instituted a no°n7 nyaw, so that the mo»w (Xnn) is not

considered a witness (that *»°ax paid them money, thereby destroying their 13»). The reason
the W cannot be considered an 7v after the 73127 were N0’ YW 1PN is -
— 2201950 NIV 29NT 112D NID MTYA YNt

Because he is a biased witness since he is 297 a no7 Ny -
— 9993 1Y NYYYN NN NDIN NMAY 1929 9P N7 QNP INT

For if that occurrence took place before the 2°a5m instituted a nos nynaw

(whereby a 9377 7912 is exempt from any 7312w), the 79w would be a proper 7¥ -
— Y99 11PNTAN NN P2 INT 29399 SNYI9 NIYNRY 1Y JNANT

For he will be believed to testify, ‘I paid the 7%’ with a % that he could

have said, ‘I returned the money to the >’ -
— (3, 97 pwr1p) YIPN YIRD VI 99NTD

As the X773 states in the beginning of w7pn wWoRT P75 -
— ODYN 0927 1PN RIT I N3N 351 TY NIINT 1)

So since there is a credible 7¥ testifying against the X117 2, how can they be
believed that 172°1 *X70°0 with a 9% of 2" 7:7®, for if they claimed 2" -

N9 1959NINTI DYYN YAWY 9199 PRY TINNY NNAY 29NN 1Y MNT
It would be a case of yaw~% 391 (since the 7 testifies that there was a payment)
and since they cannot swear to contradict the 7¥ for they claim °%71°0 and not

26 It seems that the claim of >X7v°0 is a frivolous claim and would not be credible on its own merits (similar to the
claim of *svn *7°7). It is acceptable only because of the W of "7,
27 307 1 a 937 1913 is Mws from a 72w, However, during the time of the X3 (by 1271 27), the 2°X1MK instituted
that every 2577 7910 must swear. This 712w is called a N0 N¥12w, meaning that the o°»on induced the 957 91 to
swear in order to reveal the truth.
28 The testimony of the m"2w that he paid the money is a biased testimony, for if he would not claim that he paid the
money to the m>n, the M> would demand the money from the m>w, and even if the m%w will claim that he never
received money or that he already returned it to the m> (which makes him a 9571 9913), nevertheless he will have to
swear a no>n ny1aw. Therefore it is in his biased interest to claim that he paid the m%». This biased testimony makes
the MW unacceptable as an X"V against the “knn.
2 The 13°» here is slightly different from a regular 1. The M2 does not need a W1 to be believed that 7191 *nyo,
but rather the wn is to remove any bias the 7°?w may have. We cannot say that the %% must say that he paid the
m>n for otherwise the m? will demand the money from him, because even if the m? will demand the money from
him the m%w can say, ‘I returned it to you’. It makes no difference to the m>w whether he says m»»> *ny1o or
P2 17X in both cases he has no liability, therefore he is a credible witness. (This is not the case after the 7121
were N0 1 nyaw 1pnn for then if the Mm% would say M%7 1717778 he would be 271 a no i ny12w therefore he has a
bias to say 77217 °ny1o and is not a credible 7v.)
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0"71%), they have to pay, as X"9 ruled here! Therefore we must say that the story there
took place after the 13121 were jpn» a no°7 N¥12W, so the %W is not a credible X"V, therefore the
*R117 have a valid .

SUMMARY

The nuIn1 is not believed with a 1 of s XY (even with a 712w of *dun >7°7) either
because he cannot be ¥ to contradict the 7v with a 7312w (the °") or because
once there is a 7¥12w 21 of an X"Y it cannot be overridden by a 1.

THINKING IT OVER

1. Mmoo asks that the IR should be believed with a 712w of v >7°7 for he has a
1n of »oun 89.3% How will this 131 remove the n"9°Xw Tinn? He is not swearing the
72w which the X"y is 211 him, therefore he has to pay!?!

2. MooIN suggests that AT may not want to claim *»vn X? because he is concerned
that the X2037 H¥21 X"y will be %019 him m7v7.3? Seemingly now also, even though
he claims *5vn >7°7, nevertheless they will be 2019 him Xn713a (as is the case by
any 07y who say someone grabbed that he is 9105 and cannot claim >ovr 7>7)!33

3. mooin asks (according to the > ") that if there is no °n here why do >X1mw1 27
argue with Xax '7.3* Why cannot we answer that X121 21 maintain that it is a 2n
as MooIn says later according to the 0" that the 1°n of *dvn XY is a valid 13 (and
the NP19nn between X"1 and YXMW1 27 is whether %0un X7 is a 131 or not)?3?

30 See footnote # 3.
31 See 1w NI 7"210 and 277 MR 02
32 See footnote # 7.
3 See 2" MR "9a.
34 See footnote # 13.
35 See n"m.
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